HAYYUM U3OBPETATD
BYAYLIEE

TpeLwoTKa

UHCTpYKLUMA No c6opke



HAYYUM U3OBPETATb
BYAYLLUEE

NMepeyeHb peTtanen

HasBaHue petanu

[MnacTtnHa 1x5

MnacTtnHa 1x11

[MnacTtmHa 5x11

Yron nnockum 90° 5x5

Yron (1.1)x3

Yron (1_1)x5

BuHT M4x8

BuHT M4x16

N306pakeHne

KonuyectBo (iT.)

HasBaHue getanu

BUHT M4x25

Manka M4 pnaHueBadq

MaKka M4 cTonopHas

Konbuo 3.4 MM

Konbuo 5 MM

MnaHwamba

TRIK

N306pakeHne KonunyectBo (WT.)




HAYYUM U3OBPETATb TRIK
BYAYLLUEE
M4x16

1 QS
) { Ry




::Ay;lll::;EM3OBPETATb TRIK




HAYYUM U3OBPETATD
BYAYLIEE

@ @ o trikset trikset.com support@trikset.com


https://trikset.com
mailto:support@trikset.com

